-1 -
pi ece 1, NC 000913, bol A tig+, config: linear, direction: + begin: 453984, end: 454376

*453990  * *454000  * _*454010 __ * __*454020  * *454030  * _*454040 __ * ___*454050  * *454060
5’ccctgtcgtggagcaggaagcatcgcgtaaaaacgcatttgcaactgtcggcgcttttccagtatgttgctaaagattttaS‘
- pro - cys - arg - gly - ala- gly - ser - ile- ala- @ - - -fMat-Ieu-Ieu-Iys-|Ie-Ieu-
-pro-val-val-glu-gln-glu-ala-ser-arg-Iys-asn-ala-phe-ala-thr-val-gly-ala-phe-pro-val-cys-cy - -
- leu - ser - trp - ser - arg - lys - his - arg - val - lys - thr - his - - - leu - ser - ala - leu - phe — -tvr-val-ala-lys-asp-
p35 6.1 bits _(C¥p10 2.4 bits ir
._‘::’._.._ B ~ . sd
[=2) [ —
p35 5.2 bits ----'' N 2§ sd-(6)-ir 454064 Gap 4.3 bits
| | sd-ir 454064 bol A tig+ total 6
B } p35-(21)-p10 454044 Gap 3.3 biL
R R EEEE R T | p35-pl0 454044 total 5.2 bits ‘_C\U ... plo

~

T#p10 4.6 bits
Ol

} p35-(24)-pl0 454047 Gap 2.4 bits

tal 8.2 bhits

--------- } p35-(21)-pl0 454061 Gap 3.3 bits
----------------------------------------- | p35-pl0 454061 total 5.1 bits

*454070  * *454080  * *454090  * *454100  * *454110 * *454120  * *454130  * *454140  *
S’Tgaaaaacggccfgcgggccgftff fftf tcfggatfftgcgcftfftgcccagcatfca Jacoaaaattgcccgogogaad
- -fMat-arg-phe-Ieu-pro-ser-|Ie-gln-thr-Iys-lle-ala-arg-glu-

- - - - - - - - -fMat-ser-eg-phe-cys-ala-phe-cys-pro-ala-phe-arg-arg-lys-leu-pro-gly-asn-

ir bol A tig+ Lo

sd

{----- ... sd-(5)-ir 454148 Gap
|----- ... sd-ir 454148 bol A tig+ to

.¥#p10 3.2 bits

*454150 * *454160 * *454170 * *454180 * *454190 * * 454200 * *454210 * *454220 o
S’Ttgfgaaaaaafacgcgacagcgcgcaataaccgtf tcgacfcaf.aaaa fg fgccgcfafaafgccgcgfccfafft
- leu - - -fvet -

ile - arg - asp - ser - ala- gln - @ - - - - - - - - - - -fMet - pro - arg - pro - ile - @ -
ir bol A tig+ | . -orf 49 codons - orf

-cys-glu- lys -

ir bol A tig+

-- sd-(5)-ir 454148 Gap 5.4 bits I sd-(14)-ir 454210 Gap 4.9 bits
----| sd-ir 454148 bol A tig+ total 6.9 bits R R T sd-ir 454210 bol A tig+ total 5.2 bits




-2 -
*454230  * *454240  * *454250  * *454260  * *454270  * *454280 _ * *454290  * *454300  *

5 @atgciitcogggatogatictogotftaacaggogaatogtogatiogatifalaagaacatcccggiifccgcgaagccaacaacctgtogs
- asn - ala - phe - gly - met - ile - leu - val - thr - gly - asn - val_- ile - asp - tyr - lys - asn - ile - pro - val - pro - arg - ser - gln - gln - pro - val -
-fMet - leu - ser - gly - @ - - - @ - - -fmvet - @ -fMet - ile - ile- arg - thr - ser - arg - phe - arg - glu - ala - asn - asn - leu - cys -

—_——

}orf 6 codons e = _.cosd ir bol A tig+
(=7 = = 7) > s <>
p35 3.4 bits -orf 2 codons
{-----------FEN sd-(10)-ir 454258 Gap 2.7 bits
e sd-ir 454258 bol A tig+ total 5.2 bits

-

T pl0o 3.3 bits

} p35-(23)-pl0 454270 Gap 1.4 bits
| p35-pl0 454270 total 5.3 bits

. .*454310 _* *454320  * *454330  * *454340 _ * *454350  * *454360  * *454370 __ *
5 cttgcggggtaagagttgaccgagcactgtgattttttgaggtaacaagatgcaagtttcagtt aaac3
- leu - ala- gly - - -fMet - thr - glu - his - cys - asp - phe - leu - arg - @ - - - - - - - - -
- leu- arg- gly - lys - ser - @ - - - -fMet_ - ile - phe - @ - - - -
- - - - - - - - - - @ - e - - - - - - - -fMet - lys -
[ D S _sd [ommmmmm ... NC_000913.tig
[ >) <>

ir bol A tig+

{----mmmm-- sd-(8)-ir 454357 Gap 2.4 bits
[ sd-ir 454357 bol A tig+ total 11.4 bits



